Transfers Report

This report contains the transfers results.

Contest Name	Ward 5 - Lerwick North and Bressay
Valid Votes	928
Positions to be Filled	3
Quota	233

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Stephen FERGUSON	Independent	66
Stephen LEASK	Independent	310
Gary ROBINSON	Independent	301
Arwed WENGER	Independent	136
Marie WILLIAMSON	Independent	115
	Total	928

Candidate Stephen LEASK Elected with 310 votes, being in excess of the quota of 233 Candidate Gary ROBINSON Elected with 301 votes, being in excess of the quota of 233

Transfers Report

This report contains the transfers results.

77.00000

Stage 2 - Surplus of Stephen LEASK

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen FERGUSON	55	0.24838	13.66090
Transfer to Arwed WENGER	116	0.24838	28.81208
Transfer to Marie WILLIAMSON	75	0.24838	18.62850
No further preference	64	0.24838	15.89632
Not transferred due to rounding			0.00220
	Total		77.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Gary ROBINSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen FERGUSON	59	0.22591	13.32869
Transfer to Arwed WENGER	111	0.22591	25.07601
Transfer to Marie WILLIAMSON	56	0.22591	12.65096
			10.01005
No further preference	75	0.22591	16.94325
Not transferred due to rounding			0.00109
	Total		68.00000

68.00000

Transfers Report

This report contains the transfers results.

92.98959

Stage 4 - Exclusion of Stephen FERGUSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Arwed WENGER	23	1.00000	23.00000
Transfer to Marie WILLIAMSON	19	1.00000	19.00000
Transfer to Arwed WENGER	18	0.24838	4.47084
Transfer to Marie WILLIAMSON	13	0.24838	3.22894
Transfer to Arwed WENGER	16	0.22591	3.61456
Transfer to Marie WILLIAMSON	20	0.22591	4.51820
No further preference	24	1.00000	24.00000
No further preference	24	0.24838	5.96112
No further preference	23	0.22591	5.19593
Not transferred due to rounding			0.00000
	Total		92.98959

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Marie WILLIAMSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Arwed WENGER	75	1.00000	75.00000
Transfer to Arwed WENGER	34	0.24838	8.44492
Transfer to Arwed WENGER	34	0.22591	7.68094
No further preference	59	1.00000	59.00000
No further preference	54	0.24838	13.41252
No further preference	42	0.22591	9.48822
Not transferred due to rounding			0.00000
	Total		173.02660

173.02660